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Q.No: 1 Who is the first sportsperson from India to get Padma Vibhushan award?

2427520
T fAYEOr TRGR U 9T HRd & Td el S §2
Sachin Tendulkar
A
i dgaax
Saina Nehwal
B
W gar
Viswanathan Anand
C
R e
Mahesh Bhupathi
D

TR Aufd
Correct Ans : C

Subject : General Knowledge

Q.No: 2 Which team won the Vijay Hazare Trophy 2020-21?

2427532
oo g9IR gt 2020-21 &9 & 7 Sfiar?
Uttar Pradesh
A
IR W
Karnataka
B
i
Mumbai
C
fiias]
Kerala
D
F

Correct Ans : C

Subject : General Knowledge

Q.No: 3 Which of the following statement is wrong regarding ‘Montreal Protocol' ?

2427571
HiRgd déeia & J&u § Feffd § § S5 91 HYH Ted 82
It was finalized in 1987
A
9 1987 # 3iftw =y faar o
It is a global agreement to protect the stratospheric ozone layer
B
Tg WHA Hew BT IS W 7 T8 ¥ e v e e @
It is the first treaty to achieve universal ratification by all countries in the world.
C

Tg g & Wit 3 TR I Srgamda T B el uged Iy B

D India has not ratified this treaty
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YRR F R AT
Correct Ans : D

Subject : General Knowledge

Q.No: 4 What was the World inflation rate for the year 2020?

2428898
Ty 2020 & fog fay eIl R @@ 4
2.42%
A
2.42%
2.15%
B
2.15%
1.94%
c
1.94%
2.18%
D
2.18%

Correct Ans : C

Subject : General Knowledge

Q.No: 5 Which of the following trophy/cup is not associated with the game of golf?

2430532
fraffaa 3 Q917 W gel / wu iier & da Q i 7 82
Walker Cup
A
Cleal
Ryder Cup
B
RS
Dunhill Cup
C
ST 9
Sultan Azlan Shah Cup
D

FedH 3foier M8 dY
Correct Ans : D

Subject : General Knowledge

Q.No: 6  Which of the following was the longest act enacted by the British Parliament?

2432450
¥ ¥ o @ ffew wue anr oififafia v < sifrm are
Government of India Act, 1935
A
R WER 3w, 1935
Government of India Act, 1973
B
R WHR SiRfaH, 1973
Government of India Act, 1919
C
YRT WER fAfm, 1919
Government of India Act, 1833
D

YRA WER ffAfaw, 1833
Correct Ans : A

Subject : General Knowledge
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Q.No: 7 Who among the following is famous for forming a parallel government in Uttar Pradesh’s Balia district?

2433572
Froffea ¥ § $F I wew F aferan ot  FHAR WSR T & o uRes 82
Mangal Pandey
A
T gy
Janeshwar Mishra
B
SR T
Chandra Shekhar
C
R
Chittu Pandey
D

forg uvsT
Correct Ans : D

Subject : General Knowledge

Q.No: 8  What are the percentage of agriculture, forestry, and fisheries in GDP?

2435781

W iy, T 3R T e @1 e fean wfowa & 2

12 percent
A

12 =

22 percent
B

22 yfe=id

32 percent
Cc

32 yfaw

42 percent
D

42 yfawd

Correct Ans : A

Subject : General Knowledge

Q.No: 9 ‘Zulu’is a tribe associated with which of the following countries?

2437283
T PR & & R 39 & weie s 87
Australia
A
sftegferar
South Africa
B
SI&T SpieT
Zimbabwe
c
oy
New Zealand
D

RS

Correct Ans : B

Subject : General Knowledge

Q.No: 10 North Indian music style is known by which of the following names?
2440736

IR YRl wila At @) Fafifea & A g 7w § S o 82
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A Hindustani
fegzartt
Karnatic
B
FRE
North western
C
I uidH
Manganiyar
D

HTRER
Correct Ans : A

Subject : General Knowledge

Q.No: 11 Tulip festival is celebrated in which state?

2440790
e Ia fou T § T S 82
Punjab
A
e
Himachal Pradesh
B
TRt e
Kashmir
C
PR
Uttarkhand
D
TWES

Correct Ans : C

Subject : General Knowledge

Q.No: 12 The Madhya Pradesh Tribal Museum is situated in -

2441047
T W WS IR AR
Indore
A
@R
Bhopal
B
et
Gwalior
c
EIIREN
Jabalpur
D
SIS

Correct Ans : B

Subject : General Knowledge

Q.No: 13 In which of the following months is the Gangaur Festival held in Sheopur of Madhya Pradesh?

2441086
Frofafaa 3 @ 5w 98 3 ey Wi & IR A TrIR Heira A faar s 87
Chaitra

A
el

B Asadha
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3
Agrahayana
C
SHEaH
Phalguna
D
B

Correct Ans : A

Subject : General Knowledge

Q.No: 14 In which city Chandrasekhar Azad was born?

2441283
TGN G BT TH b e H gan ur?
Bhabra
A
HIRT
Allahabad
B
ESIEEI
Prayagraj
c
VAR
Indore
D
R

Correct Ans : A

Subject : General Knowledge

Q.No: 15 Which of the following peaks is NOT in Madhya Pradesh?

2441449
& § o & 9 v v F 71 2
Chauragarh
A
IR
Purogarh
B
oy
Titangga Pahar
C
T TSt
Taramati
D
AR

Correct Ans : D

Subject : General Knowledge

Q.No: 16 Where is the Madhya Pradesh Rural Road Academy (MPRRA) located?

2441507
TRl HIU TSE STt (TH. UL IR, IR.T.) Tl fRea 32
Bhopal
A
i
Gwalior
B
R

G Jabalpur
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KRG

Indore

Correct Ans : A

Subject : General Knowledge

Q.No: 17 In 2020, the largest solar power project in Asia (new 750 MW solar power plant) in Madhya Pradesh, was inaugurated by Prime Minister Mr. Narendra Modi in which city?

2441664
2020 ¥, A U H URA 3 Y 7t YR SHuf gRESHT (T 750 WEIE WR oW GU) HT Igure gor w0t ot s At A frw we” & fopar ur?
Ratlam
A
@
Jhabua
B
rgen
Rewa
c
Sar
sidhi
D
Reft

Correct Ans : C

Subject : General Knowledge

Q.No: 18 How many regional centres of the MP Industrial Development Corporation Limited are the in Madhya Pradesh?

2441677
T TR & 7y e g P s ¥ faa &g 3w 82
3
A
B
5
7
c
7
11
D
11

Correct Ans : B

Subject : General Knowledge

Q.No: 19 Who among the following constructed the building of High Court at Jabalpur?

2441691

Froffea & 3 foe SeaR # 9= arawE & e o1 Ff fbar ar

Seth Govind Das
A

95 T T

Rani Durgavati
B

T gt

Raja Gokul Das
C

ST TG &

Rani Kamlapati
D

I SHEfY

Correct Ans : C
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Subject : General Knowledge

Q.No: 20 Which Article of the Constitution of India allows the Advocate General to speak in the Legislative Assembly of the State?

2441723
URA & AU T SH W 3fDe TeTvaad S 159 3 faum u1 8§ dem 1 srgafa 3w g2
Article 177
A
ITDT 177
Article 172
B
ITBT 172
Article 168
c
ITDT 168
Article 161
D
ITDE 161

Correct Ans : A

Subject : General Knowledge

Q.No: 21 Name an analyser that are used to measure the amount of quicksilver content in the drinking water?

2422846
I faetes o1 A Sargy R ST 9 & orft A @i aidt 9 wen o1 A & R s s g2
Mercury analysers
A
R s
Lead analysers
B
dits fazave
Barium analysers
C
Sfem fawis
Cadmium analysers
D

T fAdvs

Correct Ans : A

Subject : General Science

Q.No: 22 TSS stands for :

2422849

EITHCE P A &

Total suspended solids
A

Fa feifea 3

Total solid suspended
B

Fa 3 Fdifaa

Two stable solid
C

ARR I

Two suspended sols
D

QY Fifea G
Correct Ans : A
Subject : General Science

Q.No: 23  Eutrophication leads to:
2422851
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YMHHRF Pl 3R SIdl §:
Increased BOD

A
g1 g fiaiiet
Decreased BOD
B
weT g dteiist
Constant BOD
C
RR st
BOD unchanged
D

it smuiafia

Correct Ans : A

Subject : General Science

Q.No: 24 One of the reason of getting cancer is due to .

2423006
&R A 1 0 SRV e 21
Tapioca consumption
A
st 1 da
Tobacco consumption
B
TqaIg B AT
Unbalanced diet
C
g aMeR
Junk food
D .
SiE RS

Correct Ans : B

Subject : General Science

Q.No: 25 Overdose of _____ may affect our body.
2423015
B 3F AT §HAR IR BT YHIfad IR qabdl 8 |
Water
A
Tt
Food
B
e
Medicines
C
<argat
Fluids
D
Bk

Correct Ans : C

Subject : General Science

Q.No: 26 Vaccination is important to prevent what?
2423044

1 A5 & g St gyl 82

A Over population
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SIS SIS

Infectious diseases

B
e A
Aging
c
Eekcal
Heart diseases
D

fRa® A

Correct Ans : B

Subject : General Science

Q.No: 27 Which of the following is one major classes of vertebrate animals?

2428728
Froffed ¥ § $1 S3ee! vigsll 31 U ugE a1 32
coelenterates
A
e
Annelida
B
RS
bryophytes
C
STwECH
Reptilia
D
g

Correct Ans : D

Subject : General Science

Q.No: 28 Choose the odd member out:

2428735
fowm 9ew &1 g
millipede

A
faftds
centipede

B
FHERI (HdiS)
lobster

¢
S e (afeRe)
leech

D
St

Correct Ans : D

Subject : General Science

Q.No: 29 Name the type of pollution seen in the atmosphere in the form of gas.

2429025
% ¥ F qrararvr § 3@ W a1 YWl & YHR T A Sargul
Water pollution
A
ST HEHor
Smoke
B
it

C Soil pollution
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R

Dust pollution

ST g
Correct Ans : B

Subject : General Science

Q.No: 30 Which of the following are not the visible pollutants known to you?

2429034
fofefd § A o1 91 o8 IS 9P 71 8l 82
Animal and plant wastes
A
Ty 3R el & smufkry
Pesticides
B
PICAS &l
Insecticides
C
Fhee et
Chlorofluorocarbons
D

FARIEIRIBTE

Correct Ans : D

Subject : General Science

Q.No: 31 Metazoans are:

2429840
e §:
multicellular organisms
A
qgbIRD Sfa
unicellular organisms
B
THHIRB S
autotrophs
G
st
cryptogams
D
g

Correct Ans : A

Subject : General Science

Q.No: 32 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429867 the correct answer to the question from the given options.

Assertion : (A) An animal found had tunic or test like structure in its body.

Reason: (R) The organism belongs to the subphylum Urochordata.

e Fofafed vy ¥ @ $uF § Red 3 0@ 31 iy IR R 1 SR & F0 3 A B T g1 snuwt 37 R Sl 3 sayrigdE Sig SR 7 ok RE e e § 3 vy o1 ad@t Sw
SHf¥HYT: (T) UTT 7Y SR & TRR & SR a1 geror St we o

BRO: (HR) Sid STHIZAH JIDIS el F Faifdd g1

(R) is true but (A) is false.

(R) ¥ 3 AfF (A) S B1
(A) is true but (R) is false

(A) T § af (R) 3T §
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(&4 (A) IS Taise.

(A) 3FA B

(R) is the correct reason for (A)

(R) (A) & fRrQ T HR0 @
Correct Ans : D

Subject : General Science

Q.No: 33 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2430040 the correct answer to the question from the given options.

Assertion (A):Naphthalene balls kept with clothes to be put away.

Reason(R): Naphthalene balls are made up of substances that can sublime, i.e, they convert from gaseous form to solid form directly.

P Fofafed gy # < $7 € Oorl @ @ 3 ey ok g S "SRU" & FU H A {501 T {1 oMH) 3 S Ful @) aurigde o St § oR 3T e fawedt # 9 uy &1 9 SW
SHNEUT (A) : FUST T WY T v S B R @ B
PR (R) : ABYAA F A U gerdf I o7 91 & S I &1 Iavd 8, siufd 3 W Rfiw = § 39 = 7 uRafda & o 81

Both A and R are true

A

AIRRITTEE

Both A and R are false
B

A 3R R o §

A is true but R is false.
C

A T 8 A R 3WA B

A is false but R is true.
D

A 39T 3 A R 9 1
Correct Ans : C

Subject : General Science

Q.No: 34 is used to make candles, ink, crayons etc.
2430081

eRh, e, A ol s R & R 3udiT gy o g1

Petrol
A
Lo
Paraffin wax
B
Afte wwm
Kerosene
G
IR
Coal
D
Frae

Correct Ans : B

Subject : General Science

Q.No: 35 _____is a specific form of polyester called polyethylene terephthalate.
2430117

TieligaEe SYHdE TS Tk BT [ Fu gl

Terylene
A

Liciet

B Polyester
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UMeYERY

Synthetic wool

c
s S
PVC

D
Bicitit

Correct Ans : A

Subject : General Science

Q.No: 36 Find the wrong term in the series?

2422594
12, 32, 72, 152, 322, 632
el | TTed $hH T Yl TI?
12, 32, 72, 152, 322, 632
152

A
152
322

B
322
632

C
632
72

D
72

Correct Ans : B

Subject : General Reasoning

Q.No: 37 Find the wrong term in the series?

2422619
3, 10, 20, 33, 49, 68, 88
A | Ted $HH BT gl Amg?
3, 10, 20, 33, 49, 68, 88
88
A
88
68
B
68
33
C
33
49
D
49

Correct Ans : A

Subject : General Reasoning

Q.No: 38 Find the odd word out.
2424523

ST eg P TGT BT

A Lionel Messi
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ferdar et

Sergio Ramos
B

wfefar T

Lewis Hamilton
C

A e

Robert Lewandowski
D

faé Aarerat
Correct Ans : C

Subject : General Reasoning

Q.No: 39 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.

2426300
QIOK : MMKO :: YAWC : ?
I HeR-THE BT T0T Y ol ArE 31eR-THE & I UHR Uafld € S guT SMeR-UE, T SHeR-TE I e g1
QIOK : MMKO :: YAWC : ?
USGA
A
USGA
UESG
B
UESG
VUES
c
VUES
SUEG
D
SUEG

Correct Ans : B

Subject : General Reasoning

%INZ%:OOO Select the option /number which is related to 31 number in the same way as 22 number is related to a
It number?

9:8::25:?

3@ T /fAdFeT & 797 F S IEY TEW ¥ 3 IHR T § S @Y TEAT ggel
& ¥ wela g
9:8:1:25:7

27

27
64

64
121

4
Correct Ans : B

Subject : General Reasoning

Q.No: 41 In the given diagram, Triangle represents red balls, Rectangle represents plastic balls and Circle represents metal balls.
2426610
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GET IT ON

Google Play

What is the ratio of only metal balls to plastic red balls?

few e s #, Brye wnfes 3 @ Ao 1 WG a1 3, Sd Wi el $1 Ui SRar g ofR g9 o1g Bt A6 B wfiRia o g

Paa U1g B Gl BT @RS S A el § 3gurd fba 82

9/11
A

9/11

5/7
B

517

3/7
c

3/7

9/17
D

9/17

Correct Ans : C

Subject : General Reasoning

Q.No: 42 Pointing to a girl Sunita said “She is the daughter of the only daughter of my father.” How Sunita is related to that girl?
2429580

TS dg@! &1 IR 3R HRA §U Gl A Del "ag 7R AT &1 3haiicl a1 B 9t 31" Tl 94U Go! § H4 Haifdd &2

Mother
A

-

Sister
B

Erol

Aunt
C

&

Daughter
D

¥@

Correct Ans : A

Subject : General Reasoning

Q.No: 43 Which of the following expression represents S is the paternal uncle of D?
2429606
A x B — A is the brother of B

A + B — Ais the father of BA + B — A is the husband of BA - B — A is the granddaughter of B

fofifea & 9 o Ot siftrerfd 95 g2 8 & S, D @1 sia &2
AxB—A BFIYESZ
A+B—oA BIIR@E

A+BoA BaIUAE
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A-B— A B@IUd g

SxY+D
A

SxY+D

S+Y=+D
B

S+Y=+D

SxXY+D
C

SxXY+D

S+Y-D
D

S+Y-D

Correct Ans : A

Subject : General Reasoning

Q.No: 44 Which answer figure will complete the pattern in the question figure?

O
NN
B
N4
K
&
R
>
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Correct Ans : B

Subject : General Reasoning

Q.No: 45 Find the Answer Figure from the Question Figure?
2433521

IW APia T F TR St e TIHR U 1pfa o g1 i

Correct Ans : B

Subject : General Reasoning

Q.No: 46 Select the option that is related to the third number in the same way as the second number is related to the first number.

2434901
4:62::7:?
I e &1 907 o S A T § I veR Hefti § SR gl e, ueeh weT 9 Weid g1
7:336::9:7?
790
A
790

B 512
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512

720
Cc

720

689
D

689

Correct Ans : C

Subject : General Reasoning

Q.No: 47 Identify the diagram that best represents the relationship among the given classes.
2435655
Pen, Stationary, Car.

I R B} g X Sl QT T AR F <t Hey o1 W sre1 iR e 31
Had, WIRI, IR

Yy

am
©O
©O
)
©
QOO
QQO

Correct Ans : B

Subject : General Reasoning

Q.No: 48 Find the number of rectangles in the given figure.
2438088

& ol B Sl @t e i S
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10

11

11

8
Correct Ans : B

Subject : General Reasoning

Q.No: 49 Mr. Thakre travels 12 km towards east, then 8 km towards north and finally 6 km towards west. How far is he from the starting point?

2438499
oft 3R gd B SR 12 forrfl, fRR IR it o 8 folt iR ofd & ufdm Y oiR 6 forrdt Bt aren S B1 97 o fag ¥ frat R B2
10 km
A
10 foeft
32 km
B
32 et
18 km
C
18 fft
24 km
D
24 it

Correct Ans : A

Subject : General Reasoning

Q.No: 50 Three of the following four number-pairs are alike in a certain way and one is different. Find the odd one out.

2438845
PrafifRd § F TR § § 9 W w R a0 3 @ TR § T 21w der i 2, R 3 3
9:26
A
9:26
49:32
B
49:32
36:63
C
36:63
25:50
D
25:50

Correct Ans : C

Subject : General Reasoning

Q.No: 51 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440187 |ggically consistent with the main statement.

When we feel assured, we perform well
A. we felt assured

B. we did not feel assured

C. we performed well

D. we did not perform well
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TeU ¢ U4 H YB3 by R AP dlq AR HYA g1 DYAT T bIHT YTH g, SfgT Ugdd DY &I diddy IR DY A g, 3R & DY dllbd Y { Y& &Y+ H WId g1

ST T S HEYE PR ©, dl 6 3T Ue¥H B §
A. THA ST Hegd faan

B. BHA S HEGH ol fawar

C. U 31 Wax fban

D. A 31 yee e fesa

AC

AC

BA

BA

DA

DA
cD

CcD
Correct Ans : A

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440386 logically consistent with the main statement.

The pen belongs to either you or me.
A. The pen belonged to you

B. The pen did not belong to you

C. The pen belonged to me.

D. The pen did not belong to me.

fow T vy g B SR IWE GG AR FUA §1 HUA BT i T T, el Tod BT BT A gk $UA 9§ g, SR A U dfds U § o7 BT J I 81
T A1 d Mg F g A i

A. T 3MaDHT A

B. HAH MU 7ol &t

C. Had 7

D. Hem B 7 ot
AB

AB

DB

DB
CD

CcD
BC

BC
Correct Ans : D

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440397 logically consistent with the main statement.

The book is based either on environment or on biodiversity
A. The book is based on environment

B. The book is not based on environment

C. The book is based on biodiversity

D. The book is not based on biodiversity.
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T&U Y U Y& B 3R ISP a1G R U g1 HUAT BT hIHd GH g, 51 Ugd HU BT dicid GER HY G §, 3R &1 $YA dlicheh ¥ § & ¥ ¥ W1 g1
&I A1 A G R A Aa fafderar w sneid ¥

A. T vafaRor R S §

B. TR wafervr W SnenRe TEl &

C. g% o1F fafaerar w snenia §

D. G&i% 9q fafdear o anenia & §

AB
A

AB

DA
B

DA

CA
C

CA

BD
D

BD

Correct Ans : B

Subject : General Reasoning

Q.No: 54 Select the related letters from the given alternatives.

2441960
ACE : YAC :: BDF : ?
fou U fawed] A A wiferd s1arl &1 gHu
ACE : YAC :: BDF : ?
PRS
A
PRS
XYA
B
XYA
ZBD
(o}
ZBD
FDB
D
FDB

Correct Ans : C

Subject : General Reasoning

Q.No: 55 Select the option that is related to the third word in the same way as the second pair is related to the first pair.
2441974

Clever : Stupid :: Constant : ?

I faded o1 707 X S R eg A ST X el § SRl GO YeE URd ek 9 Weifdd B

IR : 3{@ R 2

Vowel

Fear

1
(o} Changeable
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YRR

Destruction

o=

Correct Ans : C

Subject : General Reasoning

Q.No: 56 Simplify: 127+[189 - {63 +3(7 +9)}]

2422369

WA BIIE: 127 +[189 - {63 +3(7+9)}]

200
A

200

205
B

205

280
C

280

260
D

260

Correct Ans : B
Subject : General Maths

Q:No: 57 - Simplify: 46 - [15 - {14-(15-4+2x2)}]

2422384
WA BIE: 46-[15-{14-(15-4+2x 24
30
A
30
32
B
32
34
(o}
34
40
D
40

Correct Ans : C

Subject : General Maths

Q.No: 58 Find the compound interest on Rs.16700 for one year at the rate of 20% per annum, if the interest is compounded quarterly.

2423606
16700 T BT 20% Ufd I9 T X A & T F1 Il o1 F1d P, I =0 IARE 24 B
Rs.5411.6543

A
Rs.5411.6543
Rs.3632.7890

B
Rs.3632.7890
Rs.5192.4532

c

Rs.5192.4532
D Rs.3598.95438
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Rs.3598.95438

Correct Ans : D
Subject : General Maths

Q.No: 59 Pari borrowed a sum of Rs.21200 from a finance company to purchase a refrigerator. If the rate of interest is 7% per annum compounded annually, calculate the compound int
2423621 that Pari has to pay to the company after 3 years.

T8 A TP 59 Tled & T o BgA" Ui | 21200 90 AR IUR d@ | A S B R 7% vld o affes TR 7, A 99 Thaie s B 0T ¥ Sl IR Y 3 anl $ 91g SO Bl Tae
Rs.4501.4380

A
Rs.4501.4380
Rs.8765.8976
B
Rs.8765.8976
Rs.56709.3214
C
Rs.56709.3214
Rs.4770.9116
D

Rs.4770.9116
Correct Ans : D
Subject : General Maths

Q.No: 60 Solve:

2428586
(550 x 4 +326x 4300 =10 -[52 x 5+ 244 =4+ (10 =2+ 22 x 4 - 42 x I
B B
(559 x 4 + 326 x 4-300+10 - [52 x 5+ 244 =4+ (10 = 2 + 22 x 4 - 42 x 3)]}
-28.9
A
-28.9
27.9
B
27.9
-27.9
C
-27.9
29.9
D
29.9

Correct Ans : C

Subject : General Maths

Q.No: 61 Find the average of first 20 multiples of 3?

2432541
3 & WYH 20 T $T 3 T P2
15
A
15
31.5
B
315
30
c
30
20
D

20
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Correct Ans : B

Subject : General Maths

3434602 Find the roots of the quadratic equation x2-3x-10=0

feaTd FHihRUT x2-3x-10 = 0 & Hel AT IO

5,-2
A

5,-2

3,2
B

3,2

52
C

52

4,3
D

4,3

Correct Ans : A
Subject : General Maths

Q.No: 63

2434742 L - ) i
If (x L 2) 0, then the value of (x* — x) is

afy (x+1+2)= 2. Q1 (¢* = x)abT HIF F1d B

2
A

2

-1
B

-1

1
C

1

o
D

0

Correct Ans : A

Subject : General Maths

Q.No: 64

2434772 272 -8 -64C 3a-2
If 8ab . then the value of ¢ is:
3 3 3 —
27a g:b 64 _ 9c’ 3 3ac2b37"[ﬂﬁ%;
-1
A
-1
2
B
2
a4
c
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1}
Correct Ans : C

Subject : General Maths

Q.No: 65 Amit faces 4 % loss by selling a shirt for Rs. 1200. At what price should the shirt be sold to earn 4 % profit?

2435217
S B 1200 TUY B TP FHA TR 4% THAA G 4% T Sifid H=A & fone <1 Y 75y e W S i =nfeee
Rs. 1270
A
1270 ¥93
Rs. 1432
B
1432 397
Rs. 1300
c
1300 43
Rs. 1350
D
1350 30

Correct Ans : C

Subject : General Maths

Q.No: 66 The marked price of a basket is Rs. 600. The shopkeeper allows a discount of 20% and gains 60%. If no discount is allowed, his gain per cent would be

2435237

T G BT Rifgd FHT 600 TTA ¥1 PFER 20% BT Fe IR 60% T UK Sl g1 Al B ge el & et 8, A Iqd1 e wfersras gom

60%
A

60%

75%
B

75%

50%
G

50%

100%
D

100%

Correct Ans : D

Subject : General Maths

Q.No: 67 Raju sells an object at 20% below its cost price. If he sold it for Rs. 450 more, he would have made a profit of 25%. What is the original selling price (in Rs.) of the object?

2435297
9 TF R Bl ITDT AR G A 20% FH R 99 1 a2 I T/ 450 I92 31 & 97 Sell, II 25% BT Y HHAT giefn| A avg &1 9ot [erg g (Fud H) 91 Y|
900
A
900
700
B
700
500
c
500
800
D

800
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Correct Ans : D

Subject : General Maths

(224'\;07 46785 Ram spends of his allowances on the food. What fraction of his allowances had left?
R HIG O 30 4Tl 12 ' ehsell 8 | 3l S e el o el i e
A
3
B
2
kit
C
2
5
D
S

Correct Ans : A

Subject : General Maths

. 4765, .

(224'\;"7 46995 8851515 o in ascending order:
4765 i
1.2, B ARG A H AR B
4765
s's’'s’e6

A
4765
s's'8’6
2236
s’'s’'8’6

B
7256
s's’'8’6
7564
s's’'s’e

C
N
s'g’'8’6
6457
8's’'6’6

D
6 %55 7
8's'6'6

Correct Ans : D

Subject : General Maths

Q.No: 70 A herd of cows gives 5 litres of milk each day, but each cow gives one fourth of total milk each day. They give 35 litres of milk in 7 days. How many cows are there in the herd:
2437555

T 1 U S TAF o 5 e g & 7, Al v T vl g gy @1 ww A AR 31 3 7 R F 35 ofier gy At ¥ A 39 s § g e a2

A 2 cows
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2Ty

3 cows

3 Mg

4 cows

4TY

5 cows

54
Correct Ans : C

Subject : General Maths

Q.No: 71 If in a symbolic language ‘RARE" is written *SBSF’ then ‘AREA’ will be written in the same language as?

2422544
Tfe; foreft Wibfas HTm & 'RARE' &) 'SBSF' feran wme df 'AREA &Y 3t w1 3 feran smerm foraat?
FSBS
A
FSBS
BSBF
B
BSBF
SBFB
c
SBFB
BSFB
D
BSFB

Correct Ans : D

Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘STAGE' is written *HGZT' and *HORN’ is written ‘SLIM’ then *"NORTH’ will be written in the same language as?

2422574
Ife; fart Wb m & 'STAGE' ® 'HGZT' foran STt § 9fR 'HORN' &Y 'SLIM' ferar Sirat 8 & 'NORTH' &1 It v & ferar smam foredi?
NLGMI
A
NLGMI
MLIGS
B
MLIGS
MGLIS
(e
MGLIS
NLGIS
D
NLGIS

Correct Ans : B
Subject : Mental Ability

Q.No: 73 Tp a row of 45 boys, A is 19% from left end and B is 23% from right end. Then find how many boys are

2425592 1) between A and B?
45 TSP 31 P U H, A TR T 193 RIF W § 3R B 7 TR Y 23F M W F1 & 99 P 5 A SR B % Hen e a5 82
6

A

B
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9
C

9

5
D

5

Correct Ans : D
Subject : Mental Ability

Q.No: 74 In a certain code, 15789 is written as XTZAL and 2346 is written as NPSU. How is 23549 written in that code?

2426510
& Ay F1 §, 15789 F1 XTZAL 3R 2346 B NPSU F w0 § foran orar §1 S B8 & 23549 F1 B foran 9 g2
NPTUL
A
NPTUL
PNTSL
B
PNTSL
NPTSL
c
NPTSL
NBTSL
D
NBTSL

Correct Ans : C

Subject : Mental Ability

Q.No: 75 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430225 ommonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: People who speak very much against the dowry system are those who had taken it themselves.
Conclusions:
I. It is said that it is done.

II. The People have double standards.

Frofafd wsit 7, 9 BT <) fwm 1, 11 BT 3R AR € SMUH! ST S W IR A1 8, 43 & F SMHaR W I1d ael I welld 819 ol | et 3w fou e o & afg e € At et =g

FY: S A T T I (R dgd warn ded €, 3 9g1 ¢ e 39 g R an
Frad:

1. U1 gt wiren @ 3 R e B

11. ARl % ek WS €

Only conclusion I follows

A
Faa Py 1 RO BT €
Only conclusion II follows
B
e e 11 SR el §
Either I or II follows
C
1A I 97 1T SR Hedl §
Both I and II follow
D

1 3R 11 Y SRR R §

Correct Ans : D
Subject : Mental Ability

Q.No: 76 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430254 commonly known facts. You are to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.
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Statement: No state is absolutely self-dependent these days.
Conclusions:
I. It is impossible to grow and produce all that a state needs.

II. Every state in general has become old.

FProfefaa vt &, < Hu < Py 1, 11 37 R0 HRd § SMUSH! GHT HU TR IR B 81, 4 € F iR R 1 aadl § wela 89 @il| emget 3w R 7w & o s & ot e T

FY: 1S Nt Tg 7 o oft e @ stk A R

fred:

1. U o0 B Ed B R I BT (AN IR Jeme H1 vd g
11 | AR TR 8% 09T AT 81 I &

Only conclusion I follows

A
et ey 1 SR e §
Only conclusion II follows
B
Faa Fep 11 3R Sl &
Either I or II follows
C
TG 19T IT 3R Rl §
Neither I nor II follows
D

AW L AR T E 1T TR HRAT &
Correct Ans : A
Subject : Mental Ability

Q.No: 77 In a certain code language, ‘OVERLAY’ is written as 'LEVIOZB'. What is the code for ‘MOBILE’ in that code language?
2434431

T Ffdd G W F, 'OVERLAY’ 1 'LEVIOZB' & & ¥ firaT ST 81 SHt ge 11 # ‘MOBILE’ & forg 3541 ge ©?

MLRYVO
A

MLRYVO

NLYROV
B

NLYROV

NYLOVR
C

NYLOVR

LMROVY
D

LMROVY

Correct Ans : B
Subject : Mental Ability

Q.No: 78 1In question below are three statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fi
2435467 commonly facts and then decide which of the given conclusions logically follows from the given statements.

Statements:

1. Some papers are files.

II. Some files are data.

II1. Some data are records.
Conclusions:

1. Some papers are records.

II. No papers are records.

2 Ru e wy F A9 e T e § R arg @ Frsed 1 iR 11 U T B simue! 3T e wel B T A €, 4 € A [ aedi A e wda 91 8 iR R qa o i B s fyu e e
b T | SFER el 3

DY
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1. $8 YR B g
11. $ PR ST 8

111. $B 31T RPig &1
e

1. $8 TR Ra1S 8l

11 B IR KT 7 {1

Only conclusion I follows.

Faa Y 1 SFFER0T HT

Only conclusion II follows.

Faa P 11 SR F<erl 31

Both conclusions I and II follows.

S e 1 3R 1T SR Rd §

Either conclusion I or II follows.

a1 e 197 11 e BT B
Correct Ans : D

Subject : Mental Ability

Q.No: 79 In the following question, some statements followed by some conclusions are given. Taking the given statements to be true even if they seem to be at variance from commonly
2435527 ynown facts, read all the conclusions and then decide which of the given conclusions logically follows the given statements.

Statements:Some boys are girls.

Only a few girls are student.
Conclusions:1. Some boys are student.
I1. All boys are student is a possibility.

III. All girls are boys.

H Ru U uy B 7 Fu R I 918 97 Ful W e oo Fised 4w e ¥, g I Sme 3 qudl & R §F wond) §) @it sy 0g ek fihe Reifa B 6 i e @ P,
Yl T MYR W FETT |

DY :

TV TS Telbadl §

o ¢ dsfbal BEM ¥

e ¢

1. $O 95 OF ¢l

1. Wl % B §, T6 U GHIEI 2

11, oft Tefeai a5 8

Only conclusion I follow

Faa Y 1 TR BT §
Either I or II follow

T a1 9T 11 SFFER Al §
Both I and II follows

1 3R 11 N Srgery F §
Only II follow

Pad 11 SR el §
Correct Ans : D
Subject : Mental Ability

Q.No: 80
2438550
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In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.

Statements:

G>R2E=A<T<S

Conclusions:

ILE>G

II.A<S

fArAfatad 9 &, HU=! & arg ey fgu o §)

U 9T FoT & HUR R AR &7 Heqa+ H{ AN 39 3 & &9 J 59Gad [aaed &l 99 i
e

G>R=E=A<T<S

o

LE>G

ILASS

Only conclusion II is true

A
Faa ey 11 7T §
Only conclusion I is true
B
Faa e 199§
Either conclusion I or II is true
c
o Frepd 1T 11 W
Neither conclusion I nor II is true
D

A I RTRIITT R
Correct Ans : A
Subject : Mental Ability

Q.No: 81 1py the following question, the statements are followed by conclusions. Study the conclusions based on the given

2438571
statements and select the appropriate option as your answer.
Statements:
A<B<C<D=E
Conclusions:
I.B<E
II.C<E
farAtafad 934 A, FUAT & aie vey GU v &
T 1T FUaT & HTUR W AT &l Jeqae Y H 3T 3cc) & §9 & 39gad faaed 1 a9 il
FU:
A<B<C<D=E
forsad:
I.B<E
II.C<E
Only Conclusion I follows
A
Faa s 1 9T
Only Conclusion 1I follows
B
Faa ey 11 T |
Either Conclusion I or II follows
C
gafef o vad
Neither Conclusion I nor II follows
D

TR I RAf Iwa R
Correct Ans : B
Subject : Mental Ability

Q.No: 82
2438600

GET IT ON

Google Play
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In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.

Statements:

A2Z=B;,C>Y=2B,E<A

Conclusions:

I.LELB

I.C>A

TFEATIREd 937 &, FU=T & a1, favmy 8T 71w §1

U 3T YT & HIUR TR TAshy o7 Hegder BT A 3T Sl & §G A 3G fadhed B 9T H
Fye:

A2Z=B;C>Y2B,E<A

forad:

LE<B

ILC>A

If only I follows

A
Faa i 194
If only II follows
B
Faa e 1190 ¥
If either I or II follows
C
g P ra vy
If neither I nor II follows
D

TANF I IRARIITTR

Correct Ans : D

Subject : Mental Ability

Q.No: 83 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance f
2439086 commonly known facts. You have to decide which of the given conclusions, if any follow from the given statements.

Statements:

Some days are working days.
Some holidays are working days.
Conclusions:

I. Some holidays are not days.

II. No day is a holiday.

1 T T gy A S B qu1 ITH Uy < ey 1 aur 11 U T ¥ | 3ue RRU T Hu B I AR R, M € 98 dia 9t ¥ i Telld 919 €1 quT Sl B SR W SIS ST ITR T 8
U

Fo o ol Raw 3

Fo giedl o Raw g1

frsny:

1. $© gieal R @i 81

11. 98 A get 7 81

Only conclusion I follow

e ey 1 3R BRa §

Only conclusion II follows

Fae Py 11 TR Sl §

Both conclusions I and II follow

Sl s 1 3R 1T SR e &

Neither conclusion I nor II follows

AW e 1 3R T 1T SR e §

Correct Ans : D
Subject : Mental Ability
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Q.No: 84 Which one of the given responses would be a meaningful order of the following?
2442682

1. Week

2. Month

3. Day

4. Minute

5. Year

Frofafed fawd § § oH-u1 faww = R gu vl & afe w0 31 o 82
1. 9
2. WEH
3.1
4. fire

5. 9
3,1,4,2,5

3,1,4,2,5
4,3,2,1,5

4,3,2,1,5
4,3,1,2,5

4,3,1,2,5
33,4125

3,4,1,2,5
Correct Ans : C
Subject : Mental Ability

Q.No: 85 Arrange the following words as per their order in the English dictionary.
2442719

1. Follicle

2. Folk

3. Follow

4. Foliage

Frofefaa Tl o1 el Tea # U U w9 & SuR fifdu
1. Follicle

2. Folk

3. Follow

4. Foliage
4,2,1,3

4,2,1,3
3,4,2,1

3,4,2,1
4,3,1,2

4,3,1,2
2,4,3,1

2,4,3,1
Correct Ans : A
Subject : Mental Ability

Q.No: 86 Ravi can do a piece of work in 220 days. How much work can he do in 16 days?
2423686

GET IT ON

Google Play
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R0d Ueb hIH DT 220 Tl H PR Hebdl §1 g 16 Ta-dl H Thd-l bIH DR Hebdl g7

4
55
A
55
1
8
B
£
8
2
9
C
2
9
4
25
D
4
25

Correct Ans : A

Subject : General Aptitude

Q.No: 87 Which of the following is divisibie by 8?

2427595
Frofifa & § oH 8 @ favrsa &2
23616
A
23616
10848
B
10848
39812
e
39812
46243
D
46243

Correct Ans : B

Subject : General Aptitude

Q.No: 88 The age of a father is equal to the sum of the ages of his 5 children. After 15 years, sum of the ages of the children will be twice the age of the father. The age of father is:
2431228

T I B g IEF 5 T BT SR B AT F ReR B1 15 o a1, sl B oy 1 anT far 3 ong @1 Qg o 3 eng #:

s e
c :g year
D :g year

Correct Ans : D

Subject : General Aptitude

Q.No: 89 In the given figure, AABC is an equilateral triangle. Find 2BEC.
2431349 A

7>
(/7

I\\ 4// B \\

RS

——
B

D
\

|
/

e

few e fe &, AABC TF GHaTg f3yS B, & 2BEC &1 W 1A $IO1C:
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A 60 degree
60 fit

B 120 degree
120 f&h

80 degree
8o feit

90 degree
90 &7l

Correct Ans : B

D

Subject : General Aptitude

Q.No: 90 A drives at the rate of 45 km/h and reaches its destination 4 minutes late. If speed is 60 km/h, A reaches 5 minutes early. The distance traveled by A is:

2435980

A 45 Tt / HeT 3t X A gEd a1 § SR 4 e 30 @ o Tider a@ ugeal ¥1 3fe i 60 At/ Wer B, A1 A 5 e wed vgEa 1 A gRI T Y S g8 &

24 km
A

24 f&Hit

30 km
B

30 f&h

27 km
c

27 f&dt

21 km
D

21 f&.af.

Correct Ans : C

Subject : General Aptitude

Q.No: 91 Two cars start at the same time from one point and move along two roads at right angles to each other. Their speeds are 36 km/hr. and 48 km/hr. respectively. After 15 secon
2436025 (istance between them will be -

< FR te P g ¥ go@ion oz & g ardt &) sie-sra TS@! W 99 I R 901 TRY IR ¢| 3 3@t it wa: 36 farh, /der aut 48 fadt./
HeT g1, @ 15 Yds & a1g 3P 19 B gl ghit -

400 m.

400 .
150 m

150 1.
300 m

300 #i.
250m

250 #.
Correct Ans : D

Subject : General Aptitude

Q.No: 92 A train leaving from New Delhi at 6am with speed of 35km/h towards Jaipur at same time other train B moving from Jaipur to New Delhi with the speed of 45km/h. They cover
2436039 gistance is 560 km. Find the time when they will meet each other.

T 3 7 el A TR & R gog 6 99 35 frrl/der Y T I Toch ] iR I wng tw gl 37 oW 9 953 Rl & R 45 fdl/ser 3 9ra A gad 71 aft 7% g 91 g8 560 it g A
T g A F ficdtle

12:00 am

12:00 am
B 1:00 pm
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1:00 pm

8:00 am
C

8:00 am

7:00 am
D

7:00 am

Correct Ans : B

Subject : General Aptitude

Q.No: 93 The efficiency of A, B and C are in the ratio 5 : 6 : 9. Working together, they can complete a work in 18 days. In how many days can B alone complete 25% of that work”!

2436081
A, B 3R C F Q&1 &1 I 5 ¢ 6 : 9 7, U T HH FA U a¢ bl F19 1 18 el A THIW IR GFd 7, B B 39 BH F 25% U F1 e fea & g wem)
15
A
15
16
B
16
13
C
13
10
D
10

Correct Ans : A

Subject : General Aptitude

Q.No: 94 working alone Jitu and Anuj can complete a work in 15 and 35 days respectively.

2436132 Starting from Jitu, they work on.alternate days in such a way that Anuj along with
doing his work also destroys 14=% of work done by Jitu each day. If they are paid
Rs.1295 for the complete work.’Find Jitu's share (in rupees), (considering that the
destroyed work will not be counted while giving shares)
INT T TS G S0, AR e R T 15 Y 35 R F U aw awm #
SN T YT I F AW T T F AT W IW a@ F I IR § £ I 3T T W A
F FRIET S, GERT T R BT AT AT 142% W AT WL R FH F
AT 37§ 1295 F9U F1 A Fvar Sar §1 Shq, 7 REwr wa w0 (39 ), (I @ g
A Redarl &d wwg ave v v S A oEr g S Sneh)
777
A
777
888
B
888
666
C
666
863
D
863

Correct Ans : B

Subject : General Aptitude

Q.No: 95 Four bells ring simultaneously at a certain instant. Thereafter they ring at intervals of 6, 8, 10 and 12 seconds respectively. In how many minutes will they ring together again
2436135 first time?

IR °fedi tw FfYd e R ©F 91y Sonlt §1 39 9% d HER: 6, 8, 10 IR 12 IHS F SR W Forht 5| fbart el & a1g 3 fie & ugelt IR ua 9y seith?
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A PRS-

2 fiFe

1
2 - minutes
4
1
2-fAae
4
1 minute
1 fire

1 .
1; minutes

1
1- foe
2
Correct Ans : A

Subject : General Aptitude

Q.No: 96 To what power -3 should be raised to get -2187 ?

2436154
- 2187 I $7 &5 o -3 @t ura favatt g =nfgwe
-7
A
-7
-5
B
-5
15
C
15
7
D
7

Correct Ans : D
Subject : General Aptitude

Q.No: 97  The sum of three consecutive natural numbers each divisible by 5, is 225. The largest among them is-

2436166

5 3 RAurea 3 wANT Wefie Semel 1 4T 225 31 S Fed 991 981 8-

85
A

85

75
B

75

70
C

70

80
D

80

Correct Ans : D
Subject : General Aptitude

Q.No: 98 There are three tanks with 1139 litres, 1411 litres and 1649 litres of diesel. The greatest possible size of the measuring vessel with which a man can measure up the diesel of
2436967 tank while every time the vessel must be completely filled.

o & 1139 AR, 1411 WHeR 3R 1649 Hiex &HaT ad dF &6 &1 9 98 ¥ 9 IMOR F A IId U i &aT J1d DX o T et 3wt +ft T &1 Siora A9 wwar § oafd o g aR @@
il
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A 19
19
23
B
23
17
(o]
17
21
D
21

Correct Ans : C

Subject : General Aptitude

Q.No: 99 A man ravels 50 kmat speed 25 kmh and next 40 km at 20 km h and there after travel
2444458 g1 2015 kmoh. His average speed is:

#ry @l 50 fafr. £ arar 25 Bfie. £ 51§ 9 F=ar g s ser 40 s frarar 20
Frfi/e, 7 e & 99 7397 g A swE avx 90 FnfT. £y arar 15 Bl fr e & s ey
ST W AT HT?

1Skmh

18 F=fv.
25kmh

25 Ffie,
20kmh

20 f=fvi,
15kmh

15 /e,
Correct Ans : A

Subject : General Aptitude

Q.No: 100 DIRECTIONS: In each of the following number series a wrong number is given. Find the wrong number.
2444665
6, 18, 21, 60, 66, 198, 201
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6, 18, 21, 60, 66, 198, 201
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Correct Ans : C

Subject : General Aptitude
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